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Al 6,000
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= 159,200
T 19,900
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OtE=(2,357Y) 1,500
= 1,200
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= 96,000
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OALHdERXH 2= 4,119
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= 10,000
Al 10,000
101 Q12| 12,000 10,000 2,000
= 6,000
Al 6,000
04 JIZMZ 2N EE 12,000 10,000 2,000
Oozz0 MA/RI(1Y) 12,000
= 6,000
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= 1,800
Al 1,800
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= 1,000
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< 1,000
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p 21,819
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p 21,819
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SURAZHRY B ES AL 21,869 20,050 1,819
p 21,819
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g 21,819
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0| 21,819
802 BHEr=2 DIt 50 50 0
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O0IRt4g pre3 50
EA0IY NRAAH 25 832,674 833,663 50,989
MU B2l W 2% BH(SZHNIY ¥ 22 832,674 833,663 150,989
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SZ - JIYRASN 29 22 274,000 125,883 148, 117
101 Q1214 17,789 16,983 806
04 JIZH2ERSES 17,789 16,983 806
O=T - JIYRXESX B3I 17,789
23 34,5608 * 108 * 102 * 43 13,824
oFXESY 34,5608 » 10Y » 22 * 43] 2,765
o 2HAH| 3,0008 * 102 * 102 * 43] 1,200
201 Lere gl 31,711 26,000 5,711
01 AFR22/H| 15,160 10,000 5, 160
ORE=2 L 2FEI 448 10,000
OIS AlRaz2l Il
200,0008 * 128 2,400
OY - 24) YXE 60,0002 * 122 720
OL2X PS8 20,0008 * 122 240
OMREE R (ZAX S) 100,008 « 128 1,200
OBIAIRIII| ARE 2
300,000 * 10§ » 23] 600
02 ZZ2H| 16,551 16,000 551
OSZHX J}2S IR 600,008 « 128 7,200
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Os3H1X d3tz MEZ 100,000& = 12& 1,200
O3s0I8Al4 |X2e 5,000
OSelZHIAIA” |XI2el  100,000& * 128 1,200
O&J|etd 2te| & 100,000& = 123 1,200
OsSHX2CIARA AFUAUHZ SILXIA 251
Os3H1X 3tx =HE 500,000& * 13 500
202 O4Hl 9,500 9,500 0
01 =LA bl 9,500 9,500 0
Os3HX gdst gRFA 7,000
Os3HX 22 gRF& 2,500
206 M=l 5,000 5,000 0
01 Mz bl 5,000 5,000 0
OH&Es g3tzs+2 2,000
OZEH 8=2+¢ 3,000
401 Al&HIZL=ROHYI 210,000 58,000 152,000
01 Al&H| 200,000 50,000 150,000
SSEX AEE JHl & B 200,000
03 AlZ=R0HHl 10,000 8,000 2,000
OHM#£ ¥ o= &Hl 2dx S 10,000
s2HA g & 6,822 6,822 0
301 Lpt8aag 6,822 6,822 0
10 EAIAHIE A = 6,822 6,822 0
OY=gHd W= - Motk 4 6,822
ol gl Bl 551,852 750,958 A 199,106
801 OlldIbl 551,852 750,958 2 199,106
01 olldlyl 551,852 750,958 A 199,106
oollgldl 551,852
thsws s4 XN& 851,000 804,227 46,773
FEX REMA (=& EE3H) 109,027 104,637 4,390
EYHFEXN NEHS 109,027 104,637 4,390
201 LetEHH| 82,039 78,249 3,790
01 AtER22/Hl 7,500 11,710 A4,210
Oget=8gH| 4,000
OANEEXAM & HEHS DKM QI
100,000& * 102+ A 1,000
CDENBUS BIASII| ARE 7Y
500,000& = 2CH * 33l 3,000
o1ul=y| 3,500
o M= 200,000& = 721 * 23| 2,800
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S 100,000& = 7¢! 700
02 3234l 74,539 66,539 8,000
ORERS 3,000,000& = 128 36,000
OEYHFEX RUCHEAIAE S 2tel 24,539
ocldEINMZ 217,800& * 6J] = 123 15,682
oEXUAHZ 9,680& » 67| » 128 697
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307 212+0| & 21,000 20,400 600
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1,750,000& » 12& 21,000
DYFIAE 018 MEIA KD (FAER2 SHIH) 741,973 699,590 42,383
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201 et 13,640 2,200 11,440
01 AFR 22l 13,640 2,200 11,440
OCuszZAMd g2= MA 2,200
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101 Q14| 17,478 15,964
03 RIHAIZZNHE S 17,478 15,964
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| 219,000
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01 At 1,500 1,000 500
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202 04t 8,891 8,391 500
01 =2Uloibl 8,891 8,391 500
OBt4+E U 2THH R 8,891
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S AICHAH Q! It 397,845 611,249 A213,404
OlcH XI & SAIDHE 397,845 611,249 A213,404
SADIBEAIE EF(DIEAIE SE83IH) 30,211 36,019 25,808
JIBNERE=s 23 30,211 36,019 25,808
401 Al&HIZL=ROHYI 30,211 36,019 25,808
01 Al&H| 30,211 36,019 25,808
OJIBHAIE ERIAYS 30,211
01018 SAAEANYE FH(SAIHEAIZSUIE 4 367,634 575,230 A 207,596
SEET)
018 SAHEANE 24 367,634 575,230 A207,596
401 AlEHIZ S THYI 367,634 575,230 A207,596
01 Al&H| 367,634 575,230 A207,596
OZIIDIZE SAHHAL HEHH S 349,075
OLHBII+4E 18,559
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SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
2,664,761 2,350,965 313,796
FHExH 2,628,703 2,301,493 327,210
Zel PR(FEHAY SHEH) 546,840 533,561 13,279
s 2l 136,632 110,352 26,280
201 B3| 134,232 107,952 26,280
01 AtE222lHl 5,956 4,100 1,856
OAI 0t E2te| AAlely
10,000& * 5& * 50 2,500
OANZOtIIEZE AREEZHY
50,000&  12& 600
OsAEHe++2YRLERY
2,040% = 1,400 2,856
02 Z==23Hl 128,276 103,852 24,424
OFHE=e1Xt AMZ0tIE=2e 1,500
oA Ha 1,500,000& * 12/ 1,500
OF=2Z& AIZ0HIE2tel 2,000
caFotE A 2,000,000& * 13l 2,000
ONE A0t E22] 5,700
cQLaHot Ha 1,500,000& * 12/ 1,500
oZSNEYT FA 2,100,000& * 22| 4,200
OAC=2x OtotE2e] 5,700
oFotE A 1,500,000& * 13/ 1,500
o=24 SHIFEA 2,100,000& * 23l 4,200
O232= ¥ HAl 46,500
ocEZsdIIRa 400,000& » 34 » 128 14,400
ocdaea 25,0003 * 104 « 123 300
o=z ER2
800,000& 34 » 128 28,800
oRERF 250,000& = 12& 3,000
OsMEE = 1,678
oS X8 2,208,559,000& * 0.010/100 221
o=@ {xt2els  108,310,000& = 0.10/100 109
P
1,736,251,650& * 0.0153/100 266
osg2it &S
120,000,000& * 0.0799/100 96
oERZAFH
3,771,800,000& * 0.0149/100 562
cRIRPAUVLS
18, 142,000& = 0.0149/100 3
o MSt A E
1,400,800,000& = 0.018/100 253
oM@ 2els  223,350,000& = 0.02/100 45
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cHY KH2XFY
1,150,000, 0002 * 0.01/100 115
cHY SH2TBRS
78,403,002 * 0.01/100 8
Ose12x 22l o)
25002 * 244 * BAIZE * 1052 4,200
OSpi1.2% 2ols BLARTH|
200,0002! * 22 4 400
OZH=RT AYOHIE ALRX 11,036
cAZ RN 2,000% * 4,730m 9,460
e 100,0002 = 1CH 100
Sl 369,000 * 4744 1,476
OS2 AYOIIE ALK 16,523
A2 RN 2,000% « 7,339 14,678
oIt E X 369,000 * 574 1,845
OBt AIZOHIIE AI&RT 12,365
A2 RN 2,000% * 5,629 11,258
Sl 369,000 * 3744 1,107
OAZZR2A AYOHIE AZRX 16,008
A2 RN 2,000¥ * 7,266M 14,532
SP[RIE N 369,000 * 4744 1,476
OHYSHOE ALK 4,666
A2 RN 2,008 * 2,333m 4,666
202 0it] 2,400 2,400 0
01 =UHoid] 2,400 2,400 0
OYnFY Fa ¥ 24 2,400
2 FSNZ B2 21,208 27.588 6,380
201 ere | 15,220 21,600 76,380
01 At 15,220 21,600 76,380
OSIIeSE ¢2442 8002 * 1,500MICH 1,200
OYFBRA+4E 3.0002 * 40AICH 120
OSXFe 448 3,000,008 « 2AICH 6,000
OSN3 Hax3YY 242
150,0002 * 10AICH 1,500
OSX3 HAYR ¥ TAIUE
270,0002! * 20| CH 5,400
OsXzzel H&FH K22 1,000
202 01t 5,988 5,983 0
01 2UH0it] 5,988 5,983 0
OSNZ B74s 28 998
082 4agye o 1,996
O8XZ HEX GRS 2,99




SH: A=Y
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el SSFE 22 (ALY SLEEH)

. o el o . rSJELe=
SNBSS - MEAY - BES 0l &k 24 i
ANELU=& J=ES3 Bt 389,000 395,621
802 BtEt3a JIEt 389,000 395,621
03 nedas 389,000 395,621
OAM& OHIE Jx=ES= et 70,515
odE MUIE 12 1,102,500& * 1AICH 1,103
o2& MUIE 2% 2,412,000& » 1AICH 2,412
oZ&E MUIE 33 3,015,000& * 1MICH 3,015
o2dE MUIZE 45 3,102,500  1AICH 3,103
oE TUE 12 1,050,000& * 1AlICH 1,050
odE SUE 28 2,508,000& * 1AICH 2,508
ogdE SUE 3= 3,135,000& = 1AICH 3,135
o2& MLIE 1= 4,020,0002 = 1AICH 4,020
o223 MUIE 28 5,025,000& = 1AICH 5,025
o2& SUE 15 4,180,000 ~ 1AICH 4,180
oE2E TUE 2= 5,225,000& = 1AICH 5,225
o228 SUE 3= 6,878,550& * 1AICH 6,879
o228 SUE 45 8,360,000& = 1AICH 8,360
oHE MUIE 15 10,050,000& = 1AICH 10,050
oHE SUE 15 10,450,000& = 1AICH 10,450
O23&&3 ANIOHE g=E2S53 Bt 91,583
oZE MUIE 12 2,453,850& * 1AICH 2,454
o2& MUIE 2% 3,072,000&  1AICH 3,072
o&E MULE 3= 3,840,000& * 1MICH 3,840
oE SUE 15 3,192,000& * 1MICH 3,192
oE SUHE 28 3,990,000& * 1MICH 3,990
o238 MUIE 12 5,120,000& * 1AICH 5,120
=23 MUIE 2= 6,400,000& * 1AICH 6,400
o288 SUE 1= 4,564,350 * 1AICH 4,565
o2& SUE 28 5,320,000& = 1AICH 5,320
o2& SUE 38 6,650,000& * 1AICH 6,650
o83 MUIE 12 10,240,000& * 1AICH 10,240
o83 MUIE 2% 12,800,000& * 1AlICH 12,800
oHE SUE 1= 10,640,000& * 1AlICH 10,640
oHE SUE 28 13,300,000& * 1AlICH 13,300
OSd2xt O E 2253 e 136,823
oE SUE 1S 3,732,000& * 1AICH 3,732
o238 MUIE 12 4,500,000& = 1AICH 4,500
o2& MUIE 22 4,750,200& = 1AICH 4,751
=3 MUIE 3= 5,938,830& * 1AICH 5,939
o2& NLE 45 6,000,000& * 1AICH 6,000
=& MLIE 58 7,500,000 ~ 1AICH 7,500
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SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
o2Z 2= 13 4,655,00020 * 1A|CH 4,655
o2E 525 25 4,665,00020 * 1A|CH 4,665
o2Z 525 3% 5,938,3302 * 1AICH 5,939
oSZ 525 45 5,939,330% * 1AICH 5,940
o2E 525 5% 6,220,000 * 1AICH 6,220
o2Z 525 63 6,776,2002 * 1AICH 6,777
oZ2E BAE 75 7,439,330% * 1HICH 7,440
o2& SUE 8= 7,775,000& = 1AICH 7,775
o®ZE MIE 15 12,000,008 * 1AICH 12,000
oHZE MDE 25 15,000,008 * 1AICH 15,000
oHE ZUE 15 12,440,002 * 1AICH 12,440
oHE Z2HE 25 15,550,0002 * 1AICH 15,550
OS 1% NYOLE YELES vt 42,079
oLE 1,323,0002 * 10AICH 13,230
o25 2,364,6002 * 5| CH 1,823
oHE 2,837,5208 * 6AICH 17,026
OBUYSHR AYOIIE YFELEZ e 48,000
oLE 20,000,0002 * 1AICH 20,000
o2 6,000,0002! * 1HICH 16,000
oHE 12,000,0002! * 1HICH 2,000
DETY FHOE JIUTH(FAAMY SHIH) 2,081,863 1,767,932 313,931
NgATiZEe AlLS Hy| 201,440 100,900 100,540
401 Al&HIL 20| 201,440 100,900 100,540
01 Al&H] 200,000 100,000 100,000
ONZAUFE AL FH|
50,000,000 * 4JHEHX] 200,000
03 Al& S CHY| 1,440 900 540
ONZUUHFE ALSHH 20|
200,000,002 * 0.72/100 1,440
CEIEL 1,880,423 1,667,032 213,391
801 0iltI bl 1,880,423 1,667,032 213,391
01 ollblbl 1,880,423 1,667,032 213,391
OolHI bl 1,880,423
HHEAAY (A 36,058 49,472 A13,414
ol 2ol (FUAY S 36,058 49,472 ~13,414
ol 2| 36,058 49,472 ~13,414
101 Q1248 36,058 49,472 ~13,414
03 RIHA22RE 4 36,058 49,472 A13,414
oYU e 22X 24(2F) 34,954
oJl23 34,5602 * 2% * 2502 17,280
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SN AESFAYL
Ha: dSALY SR N
Sl BAIZAL SY(SRNE SHH) (29l &
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SHEAAYL 4,826,452 2,147,593 2,678,859
2 1,306,000
| 391,800
Al 3,128,652
4SSN +EBY N 3,659,715 965,686 2,694,029
= 1,306,000
| 391,800
Al 1,961,915
BAIZAE SY(STHS SLIH) 3.650.715 965,686 2,694,029
= 1,306,000
8] 391,800
Al 1,961,915
SeEeHeY 2geel 390,016 316,216 73,800
201 Yereg| 323,440 294,640 28,800
01 AtR22lt] 61,680 61,680 0
oxgs 10,0002 * 162! 1,600
OFALEM= 200,008 * 30! 600
ogxIR+y 59,480
SRR 70,0008 * 291 * 112 15,680
SRR 60,0008 * 291 + 365 43,800
02 BB 261,760 232,960 28,800
OZZ22 2 MA 240,760
o®IIea 17,900,002 * 122 214,800
CHHFERS 300,008 * 122 3,600
SHANEER 60,0008 * 122 720
oXYBAMH 23
150,000 * 2CH * 23| 600
oXESX BEHE 350,008 * 2CH 700
o XHS A A 10,0002 * 2CH 200
oCCTV MEBEMAFSE 200,009 * 128 2,400
P 10,0002 * 13| 100
o ROIHHIAIAY SX e
170,0002 * 122 2,040
o TIIQHH BRI 1,300,0008 * 122 15,600
SI=E=T] 3.000,0002 * 5% 15,000
ORI 250,008 * 2CH * 122 6.000
202 04t 11,976 11,976 0
01 =U0itl 11,976 11,976 0
Odt4+xHel YLz 11,976
204 =24 AH| 9,600 9,600 0
03 SHY2JH| 9,600 9,600 0
S EIEEY] 50,0008 * 162 * 128 9,600




SN SEBBAYL
HE: GsSULN SREY WA
Sl BAIEAL 2Y(LRHH SEH) (el & 2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
401 AlZBIL 20| 45,000 0 45,000
01 Al&H| 45,000 0 45,000
OXGHRUAY S4LXBA L HESDA 10,000
O AME=ZA 35,000
ot=MMNIl S KX 240,000 240,800 A 800
307 212t01& 240,000 240,800 A 800
05 CIZtRAEZ 240,000 240,800 A 800
OBt=RMI| ¥ BEES Iz 240,000
o k=N | 84,000& * 2,500& 210,000
og&= 50,000& * 600& 30,000
Sx2l AlE E=b| 297,000 143,100 153,900
201 Yot Y| 3,000 2,000 A9,000
01 AtE222/Hl 3,000 12,000 29,000
O=HMelAld 23l 3,000,000& * 1=l 3,000
206 M=l 63,000 12,400 50,600
01 M=l 63,000 12,400 50,600
O+HeIAE BHHETY 27,000
SEIHSILIZ Mol 65
250,000& * 7& » 8H 14,000
oBIIYEI| B setgl 45
80,000& * 5& * 1004 4,000
o2AE IEIIQ 4B
150,000& * 5& * 12JH4 9,000
OSLOISHIT U HoHI
3,000,0008 * 34! 9,000
OXEJ|Z &2 WA 18,000& = 1,5004 27,000
401 A &HIZL 2048 223,000 105,700 117,300
01 Al&H| 223,000 105,700 117,300
O&HX &K =8I B 100,000
Ok & ot=HelANE BEx=3A 123,000
405 KH&HFESHI 8,000 13,000 25,000
01 RAUSES S| 8,000 13,000 A5,000
OO0ISE B0lAE 29 3,000,0002 * 104 3,000
O3J1g=0| #¢ 5,000,000& * 14l 5,000
NMENHE StET 2 33,059 15,000 18,059
101 Q14| 13,059 0 13,059
04 JIZtMZ22XSE+ 13,059 0 13,059
ORGMENHESIESE T4 oIt 13,059
=Jl=g 44 6503 » 18 » 230 10,270
oxFsd 44 6503 * 18 » 47 2,099




M =ESIASE S
Uz =283 e
thel: BFIIEANE 2S (M SE3AH) (9 ®2
_ _ - HEc
SH-EFHHA(FA) - NIRAE - BES 01l A+oH loﬂ/l\_Fo” Hws2
o 2HAH| 3,000 » 1Y » 230 690
201 LBty 5,000 5,000 0
01 At222|H] 5,000 5,000 0
OXNHMEKEssE 22 5,000
206 = Hl 15,000 10,000 5,000
01 Mz bl 15,000 10,000 5,000
ONHAMEKNESSE M7 10,000
Os,8g #< 5,000
HFz: 2 87,640 55,570 32,070
201 et H| 10,740 4,850 5,890
01 AtE222|H] 10,740 4,850 5,890
Ox=Z&ZAN =25 7,440
omd2 4A 200,000& * 43| 800
otk BEZA 160,000& * 43| 640
ocxmd ¥ UR+ MHSLHAM
500,000& * 124 = 123l 6,000
O=Z S I & AMN==2=E
3,300,000& * 13l 3,300
206 = Hl 47,000 47,720 AT20
01 MZHl 47,000 47,720 AT20
OCn=2XsdH =< 2,500& * 4,000kg 10,000
OEZcIgaLd R0 s(HA) 2
2002 * 50,000kg 10,000
OgstMole ¢ 200& * 50,000kg 10,000
O=&Zs=ZEH 425 7 12,000
Oz|S&EX ONNHAI 22 7 5,000
207 AN 3,500 3,000 500
03 A& ATRH] 3,500 3,000 500
OaEa Al 2 75,0008 * 208 1,500
Oaga JIXNM 2 100,000& * 203 2,000
307 QI2t0lA 26,400 0 26,400
05 CIZtRAEZ 26,400 0 26,400
Ox+=ZNHSEHZHI(TMS) FAE2H2teld]
2,200,000 + 12& 26,400
NESTEXX XA 2,612,000 195,000 2,417,000
= 1,306,000
7 391,800
Al 914,200
401 AlEHIL 20 2,612,000 195,000 2,417,000
= 1,306,000
I 391,800
Al 914,200




SN ARBBAYL
B USYLN 2THY N
thel: BFIIEANE 2S (M SE3AH) (ctel &
S EB ORI (B) - HRAIY - BAS Aro e HlmE2
01 Al&HI 2,563,940 195,000 2,368,940
OBUHCIAIE EXAS 2,563,940
=2 1,306,000
| 391,800
Al 866, 140
02 Zeldl 38,657 0 38,657
OBUHMEIAE EXAY Zeltl 38,657
03 AIE=20bl 9,403 0 9,403
OZUXMeIAlE EXIAY SO0 9,403
HY2IZH (HEZ AL D) 1,166,737 1,181,907 A15,170
AU (2N SE3AH) 1,133,909 1,149,411 A 15,502
lE2HHI(=EMEELIA) 1,133,909 1,149,411 A 15,502
101 el4H| 1,107,869 1,123,791 A 15,922
01 2=+ 799,012 780,084 18,928
oJ1as 403,323
obg 2,961,300& = 14 » 12& 35,536
SL= 2,534,500% * 2% » 12& 60,828
o7= 2,065,000& * 3% » 12& 74,340
o83 1,583,300& * 1% » 12& 19,000
=Jls7a 2,164,5008 » 4% » 123 103,896
=J|s8a 1,821,7008 » 3% » 123 65,582
=J|s92 1,505,000& = 14 » 12& 18,060
SPSE=P] Fals] 372,574,000& * 7/100 26,081
ORIV, 33,222
ocdIY 398,655,000& * 1/12 33,222
OAIZ2E 68,197
obg 9,796 * 1H = 45A12t » 123 5,290
SL= 8,312 » 2% » 45A12t » 128 8,977
o7= 7,4573 « 3H x 45A12F x 12& 12,081
o83 6,682% * 2% x 45A12t x 123 7,217
olls7a 7,4573 x 4 x 45A12F x 123 16,108
=Jls83 6,682 * 3H * 45A[2t « 128 10,825
=J|s92 5,093 » 1H * 45A12F = 123 3,237
SPSE=P] Fals] 63,735,000& * 7/100 4,462
ONsxg 18,360
SL: PN 40,000& = 16% = 123 7,680
SR PIES 20,000& * 409 » 12& 9,600
oA AA 30,000& * 39 * 12& 1,080
OMEEHIEXY 16,868
ozZsw 51,9903 * 69 * 43 1,248
clssn 433,880& * 99 * 43| 15,620




ro g2 4>
T 0%
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2HAH (=SB AMED)
S2ZHI(=EME SEL3AH)
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o250l &t 130,000& = 3¢¥
©200l4f 25 0]

110,000& = 3¥
=153 0l&f 208018 80,0008 * 69¥
=10=0l&f 158018 60,0008 * 2¢¥
=5E0[4 10012 50,0003 = 2¢¥

Oofg2f=¢ 50,000& * 16¥

o4z 2,961,300& =
obz  2,534,500& =
o6g 2,065,000 =
=Jls6a

2,336,000& » 14

=oJls7s
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_L
02 0%
* *

128 *
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02
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A
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* 128

* 128
128
128
* 128
* 128

>*

>*

4.8/100
128 » 4.8/100
128 * 4.8/100

128 » 4.8/100

1,821,700& = 18 » 128 = 4.8/100

o H LM &bl 76,941,002 * 7/100
OS2eesy
oXII - S AFBRLGY LY
~®I| orE R BER
15,0002 * 12 « 128
I E R EIDY
10,0008 * 1% « 128
oXALY 80,0008 * 162 * 122
c2FsY 40,0002 * 1% * 128
oSAX224Y 30,0008 * 16% + 128
OB A Z A 30,0008 * 162 * 122
Ons2 x|
o653 140,008 * 19§ * 122
o672 130,008 * 58 * 128
o802 120,008 * 2% * 122
oJI573 130,008 * 4% * 122
©J158-102 120,008 * 3% * 122
OYEEIM 403,323,008 * 1/12 * 120/100
O &bl 403,323,002 * 16.7/100
OI=BI=PIL]
403,323,008 = 1/12 * 1/30 * 202
02 JIEFR 24
SE-EEE"
oJl23 1,847, 40020 * 3% + 128
o¥24g 65,507,000 * 1/12
oltEaY
~HH R X 40,0008 * 3% « 128
IR 20,0002 * 9F + 122

17,040
4,680

3,960
5,760
1,440
1,200
9,600
13,327
1,706
1,460
2,379

1,346

1,050
5,386
41,100
300

180

120
34,560
480
5,760
24,960
22,920
1,680
7,800
2,880
6,240
4,320
40,333
67,355

22,407
159,535
159,535

66,507

5,459
3,600
1,440
2,160

152,187

7,348




SM: SEEAAL
Y HH AL (EEBZAILD)
©el: QERAL (=ZEMH SE3A) (etel: =3
SA - HB SR (B) - HIRAY - By S 0fl b e HR=2
octHSHIEXY 5,831
-S8u 51,990& * 3H = 43 624
-1sst 433,880& * 3H * 43 5,207
o 180,000& = 3& » 128 6,480
ofRgrd 50,000 * 3H = 123 1,800
o&dIl|lZLHE+dE 2,880
-10E 01415 0I18F 60,0008 * 1H = 128 720
~15120] 4 2014 0) 8F
80,000& » 18 » 123 960
-20=0l&at 25 0] et
100,000& = 1€ « 128 1,200
o UG A 130,000& = 3 » 128 4,680
o s x| 120,000& = 3H = 12& 4,320
oA g8 x| 105,000& = 3 * 128 3,780
ofelg =t 50,000& * 3H = 123 1,800
SRS
66,507,000& * 1/12 = 120/100 6,651
o At atd|
66,507,000& * 1/12 = 1/30 » 20 3,695
< JHH X &l 66,507,000& * 16.7/100 11,107
oAzt R A
6,3423 * 3 x 45A12F « 128 10,275
oott2ReY
2,1143 = 198 » BAIZt « 3652 6,173
oxdId 47,7753 + 18 » 112¢ 5,351
oExI2RH 30,0008 3% » 123 1,080
o X RIH&HI 115,218,000 * 7/100 8,066
03 RIAHAZZRE = 149,322 191,520 N42,198
O3 0letA 143,340
=JIZ25 1,230,370& + 32 « 128 44,294
cal= 33,222
lgay
1,230,370 = 50/100 » 3Y « 43 7,383
-H32=F 1,230,370& = 3% * 23| 7,383
—Hl= =l 1,230,370& * 3% 53] 18,456
oMATAL+H 70,0008 » 3H = 123 2,520
oEx=YReE 90,000& * 3% * 12& 3,240
o tEdE 3,840
—bi = Xt 40,0008 = 3F » 123 1,440
-JIEHHSE 20,000& = 10 » 12& 2,400
octHEHIEXY 5,831
-S8u 51,990& » 3 = 43 624
-1sstu 433,880& * 3H = 43 5,207
o FHZ A 160,000& = 3& = 128 5,760




SN SEBBAYL
M B2 AAY (SEBBALL)
Sl ol (FRMS SEEH) (25l &2
RA B SA(BH) - NRAY - B 01 e HRE2
cnEE X 140,008 * 3% * 122 5,040
SIS DN 110,008 * 3% * 122 3,960
o ZEEIII 1,230,370% * 3% » 2% 7,383
cENDR4Y 14,454
SN2 R ALY 7,9619 * 3 * 3652 8,718
-EYaRsy 95,5002 * 3% * 202 5,736
CHIRTEINLY 95,500 * 3 * 202 5,736
S SR 135,280,008 * 5/100 6,764
o 2ral| 1,80020 * 3% « 202 * 122 1,296
Oxl=| 150,008 + 2% 300
OO MHEE2
142,044,008 * 4/100 5,682
204 X @43 AH| 26,040 25,620 420
02 M2 EH| 26,040 25,620 420
SRk 3] 26,040
o532 250,008 * 19 * 122 3,000
o632 55,0008 * 28§ * 122 3,720
o732 140,008 * 3% * 122 5,040
©8-93 105,008 * 28§ * 122 2,520
oJI573 140,008 * 4% * 122 6,720
©J158-93 105,008 * 4% * 122 5,040
EETIERBITREEEDD 32,828 32,496 332
2B (LB HLSEEH) 32,828 32,496 332
201 Yer2 ) 23,028 23,616 A588
01 At el 23,028 23,616 £588
ORN2Y JI23l 300,008 * 122 3,600
ONSEE PU(ZAX S) 200,008 * 128 2,400
OHHAIRINI| A28 7
300,009 * 8CH * 33l 7,200
OsdYs olgz 35,0009 * 122 420
o2zl 7,002 * 163 * 72 + 122 9,408
202 Oit| 2,560 2,720 A160
01 2Uoibl 2,560 2,720 A160
OHIA2R BLHOIHI 2,560
203 ZRFAY| 4,840 4,960 A120
02 AR ETY| 640 760 £120
OBRAIYRETY| 40,0002 * 16% 640
04 EN2YYLETY] 4,200 4,200 0
ORN2YYL=TY| 350,002 * 122 4,200
204 X@43AY| 1,200 1,200 0
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